1.0sn@S wHmIDd HHeor 1L emiNleT aJRIGHT

GSTGHLD

el 01 (eugiy X1, Qe - 1)

SHETEHET BUINGETISD -LiGH 4

kemh 10104

®G  omgosl  uflu eEsest Uk
QBT6ITEITE),HETHDS UL lolied 6060 DI L 66D6TT 6l 61LD
oHmD St SULewly  elgsle)  LIHms,8\H
GBS e QuiLTent UL 606TdaD

Seoothigelledt G, Qe (B mmid Agliys Qeweiun(h et
UGG Ceeerne

Bk UGS U On@,  SNUAISELHE
OesteumeeTeumemmL LG QasTerter(igid:

SFHEOOTRIGENEST G LGTOTLGHED6ITL LIUESTLI(BIGHEE.
FHeoTBIFH6(M60T Gl (BILI LT GHED6NTL LILIESTU(H\ 6.
SHEo0IBIGEMNEST BTUILIL L6oOTL G606 LLUIGTUBIGSHE0.

FiiLg QEweun® Qe (&, QFweaLn(), Bl eemlbIGT

2. Guur (s GW

Prof. 2wGridHy P. Queamngr CIET, NCERT, yg) Qe

(pevesteut.Guomamwo” . eyt CIET, NCERT, yg) &levell
21ell
(peveotaut e Agens gior  DESM, NCERT, ygy el

eoeoteut. Gomamol . wrepi CIET, NCERT, gy el

6l

HHd ehaell Geesil FLOENEHS LeTtell, Ugl
el

(LPEDDTOULT . SFITGH6DTT KVS,,suflgung, emfluireott

ufeurengeun
Agnmidleflent feani® i ulLsrf AN






QUITB6ITL &HLD:

1. setmiceet GG CFUUTL 1965t Fle) LeTOTL|EH6IT
2. eootmieent Qe (b Qewisiut 1geot &lev LIGTTL|EH6IT
3. Bgls SeotBIG6NE0T Slov LIGTTL|EH6T

4. Guayid &lev e1OHGIHHIL (BD\G6T

5. &(HSBHLD

1. semtmiceet GaFilLE CFUUTL 96T Fle) UeTOTL|EH6IT
1)A U B=B U A (uflormm 61&))

2)A U B=B U A (uflwrmm & L1D)

AUB BUA

3)(A U B) UC=A(B U C) @iy 1)

AUBYUJC AUBUOC)

4)A U ¢ = A (swell 2miu 1, ¢ steotugy U et goesll)

5) AA = A (sa1a1(\5G, 6d))
6) U U A=U (U Qe efld)



SIOHGHHI L 18
A=1{0,1,2,3,4,5},B=1{2,4,6,8) whmb C = {1,3, 5,7} erele)

(AU B)C=A B U C) etetr dMUNia6aLD.

FI6:
(AUB) UC=AU (BUC)

B\ fudesb =(AUB) UC

AUB = {0,1,2,3,4,5,6,8}

(AUB)UC=1{0,1,2,3,4,5,6,7,8} weoevvvrereern. .. (1)

aelLGaHD = A U (B C)

BUC = {1,2,3,4,5.6,7,8

AUMBC)=10,1,2,3,4,56,7,8) wooeveeveeerir. .. )

ste0tGay, (1) ommid (2) QD Bhg), BIb SremoiLg);

(AU B) UC=AB U Q) [¢llunissiu’Lg|]
2. seotmg6Ment Qe (bl QlerwIsILITL 60T &le) LIGTOTL|GH6T

(1) AN B =B N A (uflanm ).
2) (ANB)N C=AN (BN C) @iy 61).



(ANBINC ANMBNOC

B)oNA=0¢,UNA=A (¢ Bler el ommd U).

(4) AN A=A (s01601(b\&HG 1)

B)YAN(BUC)=(ANB) U (ANC) bt @ dld ) dsreg), U et weg N Qler
LRGB!

ANBUO) (ANB)U(ANC)

IO SHGSHI L1,

A=1{0,1,2,3,4,5},B=1{2,4,6,8} wonmd C= {1, 3,5, 7} eteslle0

(AN B)C=A BN C) adiuensd SHUTTSSAILD.



&6

(A NB) NC = AN (BNC) :

B fusad = (A NB) NC

ANB = {2, 4}

(ANBYNC =2 oo 1)
aaIugaD = AN (BNC)

BNC=92

ANBNC) =D oo )

st601@e, (1) HMD (2) Blelha), Bid Mg,

(A NB) NC =AN (BNC) [#fluntisasiu’ L g

1. By SHeotmis6leot e LT
By et () A U A'=U.

C (i) ANA=o
lg Guontasedilent sfl&l: (1) (A U B)'=A'N B’

(ii) (ANB) "= A’UB’

By’ oL Beomey 6ld: (A) ' = A.
Qeummich S6ooTLd LHMILD AT Gis Sevtddlet sldhser ¢ '=U wpmbd U'=¢
IO SHGSHI L1,

A=13,57,B=12,3,4,6} wimb C={2,3,4,5,6,7,8 Let



(1) #fluntissen (AN B)'=A' U B!
(i1) sflunisseayd (A U B)'=A'N B

&i6):

() ANB)=A'UB

@l (ugsb = (A N B)'

ANB={3}

(ANB)=12,4,56,7,8 weoeeveeeeereernn, (1)

aelILEHD = A' U B'

A'=1{5,7,8)
B'={2,4,6)
A"UB'=1{2,4,56,7,8 weoovevereeen... )

(1) wpmd (2) BelGHg), Hrd S{fleais),
(AN B) =(A' UB

(i)(A U By =A' N B'

@l fugsb = (A U B)



AUB=1{2,3,4,5,6,7}

(AUB)={8} ..cooovirrinin] (1)
auerli = A' N B'

A'=1{2,4,6,8}

B'={5,7,8}

A'NB'= {8} oo, )

(1) wimid> (2) BGibe), Brbd Hfles);
(AUB)=ANB'

2. GuayId Hlev 61(\BHFISHIL (6T

A={1,3,5},B={3,5,6} wimb C={1,3,7} sefiled

Bl miess:

(i) AUBNC) =(AUB)NAUC)
(i) ANBUC)=(ANB)U(ANC)

&6

i) AUBNC=AUBNAUCQ):

LHS.=A U (BNCQ)



BNC={3}

AUBNC)={1,35 UB={1,35 ocrvrrrrernn...

(HRH.S.=(A UB)N(A U Q)

AUB={135,6}

AUC={13,5,7}

(AUBYN(AUCQC) ={1,3,56N{1,3,57 ={1,3,5 ccoovevrererrerr., 2)

(1) pmid (2) Qe G, Brd {feg:;
AUBNC)=A UBN (AU C) [Bgeliu Lg]
BUC = {1,3,5,6,7}

ANBUO)={1,3,5N{1,3,567=1{1,3,5 cevvvrrverrrrr.... (1)

RHS.=(ANB)U (ANC)

ANB = {3,5}

ANC = {1,3}

(ANBYUANC)=1{3,5 U {1,3 = {1,3,5} c0evrreeererr. )



(1) wHmD (2) DewmHa), Brbd HNeugs;

ANBUC)=(ANB)U(AN C) [Bmeru’Lg]

3. &BHSHD

o  FHeoumiGelilest GG CLFUIBILITL 9 6dT &6 LIGTOTLIGHET

i. A U B=B U A (uflwrnm 61g)

i. (AUB)UC=AU (B U C)@Gsiyedd)

i A U ¢ = A (gwesll 2miiy 6014, ¢ eretiugy U efledt Goedl)
iv. A U A=A (Idempotent efl&))

V. U U A =U (U éflleot efldh)

FHETRIG6MET Gl (Bl CLFLIBILITL 1960T &l6b LIGTOTL|FH6TT

i ANB=BNA(

(ANB)NC=AN({BNC)(GaIuy andl).

@ NA=@ UNA=A(gmHmibd U Ger alHl&Her).

AN A=A eitsol(h&@& el 4))

AN(BUC)=(ANB) U (ANC ) (UREL (R el & ) sugmeug), U Eetr & N e
(WIAT: AN

Hrlys seaursailssr oo LstLse
By enNdlaen: (i)A U A'=U
© ANA'=p
lg GLomiyseeilstr edl&l: (i) (A U B) =A'N B’
(ANBY = A'UB'

@ enL Byly efF: (A7) = A
Cleumm) & ST LoMMILD B16m60T & SIS Sl elGl&enr: ¢ = U and U' = g.









